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(Cc ) 66 (Refer to Figure 1.) Determine the density altitude for these conditions:
Altimeter setting:29.25, Runway temperature:+81°F, Airport elevation:b, 250 ft
MSL. " (4-®BIAT1_Figl)
(A)"4,600 feet MSL." (B)"b, 877 feet MSL." (C)"8,500 feet MSL."
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( A ) 67 (Refer to Figure 1.) Determine the pressure altitude at an airport that is 3, 563
feet MSL with an altimeter setting of 29.96." (4-BIAT1_Figl)
(A)"3,527 feet MSL." (B)"3,556 feet MSL." (C)"3,639 feet MSL."
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( A ) 68 (Refer to Figure 1.) Determine the density altitude for these conditions:
Altimeter setting:30. 35, Runway temperature:+25°F, Airport elevation:3, 894 ft
MSL. " (4-®BIAT1_Figl)
(A)"2,000 feet MSL." (B)"2,900 feet MSL." (C)"3,500 feet MSL."
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(C ) 69 (Refer to Figure 1. ) What is the effect of a temperature decrease and a pressure
altitude increase on the density altitude from 90°F and 1,250 feet pressure
altitude to H55°F and 1, 750 feet pressure altitude?" (4-BAT1_Figl)

(A)"1, 700-foot increase." (B)"1, 300-foot decrease." (C)"1, 700-foot decrease."
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(C ) 70 (Refer to Figure 1.) What is the effect of a temperature increase from 25 to
50°F on the density altitude if the pressure altitude remains at 5, 000 feet?" (4r
BIAT1_Figl)
(A)"1, 200-foot increase." (B)"1,400-foot increase." (C)"1, 6560-foot increase."
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( A ) 71 (Refer to Figure 1. ) Determine the pressure altitude with an indicated altitude
of 1, 380 feet MSL with an altimeter setting of 28. 22 at standard temperature." (4=
BIAT1_Figl)
(A)"2,991 feet MSL." (B)"2,913 feet MSL." (C)"3,013 feet MSL."
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(C ) 72 (Refer to Figure 1.) What is the effect of a temperature increase from 30 to
50°F on the density altitude if the pressure altitude remains at 3,000 feet
MSL?" (4-®BIAT1_Figl)
(A)900-foot increase. (B)"1,100-foot increase." (C)"1, 300-foot increase."
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( A ) 78 (Refer to Figure 1.) Determine the pressure altitude with an airport that is
1,386 feet MSL with an altimeter setting of 29.97." (4-BJAT1_Figl)
(A)"1, 341 feet MSL." (B)"1, 451 feet MSL." (C)"1,562 feet MSL."
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(¢ ) 7 Name the four fundamentals involved in maneuvering an aircraft.
(A)"Power, pitch, bank, and trim." (B)"Thrust, lift, turns, and glides."
(C)"Straight-and level flight, turns, climbs, and descents."

o 4e4855:0015675 4R 0 ¥pE R %
(B ) 75 The angle of attack at which an airfoil stalls will
(A)increase if the CG is moved forward. (B)remain the same regardless of gross
weight. (C)change with an increase in gross weight.

B 438 5.:0015676 280 2kt R 5
( A ) 76 The direct cause of every stall is excessive
(A)angle of attack. (B)density altitude. (C)upward vertical velocity.

488 %5.:0015677 R0 ¥k B %
(A ) 77 "The most critical conditions of takeoff performance are the result of some
combination of high gross weight, altitude, temperature, and"
(AM)unfavorable wind. (B)obstacles surrounding the runway. (C)powerplant

systems.

B4 A8 50:0015678 A0 ¥k 2 5
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(B ) 78 What is absolute altitude?
(A)The altitude read directly from the altimeter. (B)The Vertival distance of
the aircraft above the surface. (C)The height above the standard datum plane.

o 4e4855:0015679 420 ¥ 5 R 2
(B ) 7™ What is density altitude?
(A)The height above the standard datum plane. (B)The pressure altitude corrested
for nonstandard temperature. (C)The altitude read directly from the altimeter.

B 4-88%0: 0015680 Ag e 0 ¥p% & %
(A ) 8 "Density altitude, and its effect on landing performance, is defined by"

(A)pressure altitude and ambient temperature. (B)headwind and landing weight.
(C)humidity and braking friction forces.

o 4e82%50:0015681 A w0 2% B %
(B ) 81 "What effcet does high density altitude, as compared to low density altitude,
have on propeller efficiency and why?"
(A)Efficiency is increased due to less friction on the propeller blades.
(B)Efficiency is reduced because the propeller exerts less force at high density
altitudes than at low density altitudes. (C)Efficiency is reduced due to the
increased force of the propeller in the thinner air.

F4e48%55:0015682 42w .0 ¥ s R %
(B ) 8 "What effect, if any, does high humidity have on aircraft performance?"

(A)It increases performance. (B)It decreases performance. (C)It has no effect
on performance.

o 4o82%5.:0015683 A0 2% B %
( A ) 8 What are the standard temperature and pressure values for sea level?

(A)"15C and 29.92"" Hg." (B)59°C and 1013.2 millibars. (C)59°F and 29.92
millibars.

f4e88%.:0015684 A0 ¥k B %
(B ) 8 What effect does high density altitude have on aircraft pereformance?

(A)It increases engine performance. (B)It reduces climb performance. (C)It
increase takeoff performance.

F4e4855:0015680 fE ke 0 ¥ b B¢
( ¢ ) 8 Which combination of atmospheric condotions will reduce aircraft takeoff and
climb performance?
(A)"Low temperature, low relative humidity, and low density altitude." (B)"High
temperature, low relative humidity, and low density altitude." (C)"High
temperature, High relative humidity, and High density altitude."

B 442 50:0015686 Age:0 ¥k & 5
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( B ) 8 Which factor would tend to increase the density altitude at a given airport?
(A)An increase in barometric pressure. (B)An increase in ambient temperature.
(C)A decrease in relative humidity.

B 44855 : 0015687 420 ¥ s R %
(A ) 8 "To avoid missing important steps, always use the"
(A)appropriate checklists. (B)placarded airspeeds. (C)airworthiness
certificate.

B b 8250:0015688 22 0 ¥ 5 2%
(B ) 8 What effect does an uphill runway slope have on takeoff performance?
(A)Increases takeoff speed. (B)Increases takeoff distance. (C)Decreases takeoff
distance.

F4e%8%55:0015689 4.0 ¥4 R %
(A ) 89 "What is the relationship of 1ift, drag, thrust, and weight when the airplane
1s in straight-and-level flight?"
(A)Lift equals weight and thrust equals drag. (B)"Lift, drag, and weight equals
thrust." (C)Lift and weight equals thrust and drag.

F4ek855:0015690 4220 ¥ B %
(A ) 9 Climb performance depends upon the
(AMreserve power or thrust. (B)maximum L\D ratio. (C)cruise power setting.

F4e%8%55:0015691 4E e .0 ¥k B¢
(B ) 91 What must a pilot be aware of as a result of ground effect?
(A)Wingtip vortices increase creating wake turbulence problems for arriving and
departing aircraft. (B)"Induced drag decreases; therfore, any excess speed at
the point of flare may cause considerable floating." (C)A full stall landing
will require less up elevator deflection than would a full stall when done free
of ground effect.

B4 %8%55:0015692 4220 ¥4 R %
(B ) 92 An airplane said to be inherently stable will
(AM)be difficult to stall. (B)require less effort to control. (C)not spin.

B 442 50:0015693 A0 sk &0 5
( B ) 93 The angle between the chord line of an airfoil and the relative wind is known

as the angle of
(A)1lift. (B)attack. (C)incidence.

R 4e82%50:0015694 A w0 ¥k B %
(C ) 94 Which statement relates to Bernoulli’s principle?
(A)For every action there is an equal and opposite reaction. (B)An additional
upward force is generated as the lower surface of the wing deflects air downward.
(C)Air traveling faster over the curved upper surface of an airfoil causes lower
pressure on the top surface.

13



B b 82%5:0015695 4220 ¥ 5 R 4
(A ) 9 The four forces acting on an airplane in flight are
(AM)"1ift, weight, thrust, and drag." (B)"lift, weight, gravity, and thrust."
(C)"1ift, gravity, power, and friction."

F4e4855:0015696 420 ¥4 R %
(A ) 9 "When landing behind a large aircraft, which procedure should be followed for
vortex avoidance?"
(A)Stay above its final approach flightpath all the way to touchdown. (B)Stay
below and to one side of its final approach flightpath. (C)"Stay well below its
final approach flightpath and land at least 2,000 feet behind."

R4e4855:0015697 420 ¥p5 R %
(C ) 97 How does the wake turbulence vortex circulate around each wingtip?
(A)" Inward, upward, and around each tip." (B)"Inward, upward, and
counterclockwise." (C)"Outward, upward, and around each tip."

R 4e4855:0015698 420 ¥p5 R %
(C ) 9 "If the outside air temperature (OAT) at a given altitude is warmer than standard,
the density altitude 1s"
(A)equal to pressure altitude. (B)lower than pressure altitude. (C)higher than
pressure altitude.

o 4o82%.:0015699 A w0 2% B %
(A ) 99 What are the standard temperature and pressure values for sea level?
(AM)"15C and 29.92"" Hg." (B)59°C and 1013.2 millibars. (C)59°F and 29.92
millibars.

o 4e4855:0015700 4220 ¥ 5 R %
( B ) 100 Which factor would tend to increase the density altitude at a given airport?
(A)An increase in barometric pressure. (B)An increase in ambient temperature.
(C)A decrease in relative humidity.

R4e48%.:0015701 %50 2% B %
()10l Under which condition will an airship float in the air?
(A)When buoyant force equals horizontal equilibrium existing between propeller
thrust and airship drag. (B)When buoyant force is less than the difference
between airship weight and the weight of the air volume being displaced. (C)When
buoyant force equals the difference between airship weight and the weight of
the air volume being displaced.

B b 82%5:0015702 4220 % R %
(  )102 "During flight in an airship, when is vertical equilibrium established?"
(A)When buoyancy is greater than airship weight. (B)When buoyancy equals airship
weight. (C)When buoyancy is less than airship weight.

B 442 50:0015703 A0 sk &0 5
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( ¢ )103 What is airship superheat?
(A)A condition of excessive exterior temperature of the envelope. (B)The
temperature of the 1ifting gas exceeding the red line. (C)The difference between
outside air temperature and the temperature inside the envelope.

4o 48%.:0015704 250 ¥k B %
(A )104 "In relation to the operation of an airship, what is the definition of
aerostatics?"
(A)The gravitational factors involving equilibrium of a body freely suspended
in the atmosphere. (B)The science of the dynamics involved in the expansion and
contraction of hydrogen gas. (C)The expansion and contraction of the lifting
gas helium.

B b B8%55:0015705 4220 ¥ 5 R4
( ¢ )105 The pressure height of an airship is the altitude at which
(A)the airship would be unable to gain more altitude. (B)gas pressure would reach
3 inches of water. (C)the ballonet(s) would be empty.

o 4o82%0:0015706 A0 2% B %
( ¢ )106 The maximum altitude that a rigid airship can reach (under a given atmospheric
condition) and then return safely to the surface is determined by
(A)the disposable load. (B)ballonet capacity. (C)pressure altitude.

4o 82%50:0015707 A0 ¥k B %
( ¢ )107 An unbalanced condition of an airship in flight must be overcome by
(A)valving air from the ballonets. (B)valving gas from the envelope. (C)a
negative or a positive dynamic force.

o 4o82%.:0015708 A0 2% B %
(  )108 "To check the gas pressures (pressure heigh) of an airship during a climb, the

air damper valves should be"
(A)opened forward and closed aft. (B)opened aft and closed forward. (C)closed.

R4e48%.:0015709 250 2% B %
(C 109 "To land an airship that is 250 pounds heavy when the wind is calm, the best
landing can usually be made 1f the airship is"
(A)in trim. (B)nose heavy approximately 20°. (C)tail heavy approximately 20°.

B4 A2 50:0015710 A0 ¥ 20 5
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( B )110 Which takeoff procedure is considered to be most hazardous for an airship?
(AM)Maintaining only 50 percent of the maximum permissible positive angle of
inclination. (B)"Failing to apply full engine power properly on all takeoffs,
regardless of wind." (C)Maintaining a negative angle of inclination during
takeoff after elevator response is adequate for controllability.

B4 A2 500015711 #ge:0 ¥ % 20 5
( A ) 111 Which action is necessary in order to perform a normal descent in an airship?
(A)Valve gas. (B)Valve air. (C)Take air into the aft ballonets.

o 4e82%0:0015712 A0 2% B %

(¢ H112 "If an airship should experience failure of both engines during flight and
neither engine can be restarted, what initial immediate action must the pilot
take?"

(A)The airship must be driven down to a landing before control and envelope shape
are lost. (B)The emergency auxiliary power unit must be started for electrical
power to the airscoop blowers so that ballonet inflation can be maintained.

(C)Immediate preparations to operate the airship as a free balloon are necessary.

4o 82%50:0015713 A0 2% B %
( ¢ )13 An airship descending through a steep temperature inversion will
(A)show no change in superheat as altitude is lost. (B)show a decrease in
superheat as altitude is lost. (C)"become progressively lighter, thus becoming
increasingly more difficult to drive down."

F4e88%5.:0015714 A w0 2% B %
( A )14 "When the airship is at pressure height and superheat increases, constant
pressure must be maintained by valving"
(A)gas from the envelope. (B)air from the envelope. (C)gas from the ballonets.

R4e48%.:0015710 %50 2% B %
( A ) 115 "During an approach to a stall, an increased load factor will cause the aircraft
toll
(A)stall at a higher airspeed. (B)have a tendency to spin. (C)be more difficult
to control.

B b 82550:0015716 4220 ¥ 5 2%
( ¢ H116 Wingtip vortices are created only when an aircraft is
(A)operating at high airspeeds. (B)heavily loaded. (C)developing lift.

B4eA2 500015717 g0 2% &0 5
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( A H117_What force makes an airplane turn?
(A)The horizontal component of lift. (B)The vertical component of lift.
(C)Centrifugal force.

Ff4e38550:0010718 BE w0 5 B 4
( ¢ ) 118 The greatset vortex strength occurs when the generating aircraft is

(A)"light, dirty, and fast." (B)"heavy, dirty, and fast." (C)"heavy, clean, and
slow. "

o 4e4855:0015719 f2 .0 ¥ % R %
( A H119 Wingtip vortices created by large aircraft tend to
(A)sink below the aircraft generating turbulence. (B)rise into the traffice
pattern. (C)rise into the takeoff or landing path of a crossing runway.

4o 88%.:0015720 25w .0 ¥k B %
( A )120 The wind condition that requires maximum caution when avoiding wake turbulence
on landing is a
(A)"light, quartering, headwind." (B)"light, quartering tailwind." (C)strong
headwind.

o 4e%855:0015721 420 ¥4 R %

( A )121 "When landing behind a large aircraft, the pilot should avoid wake turbulence
by staying "
(A)above the large aircraft’s final approach path and landing beyond the large
aircraft’ s touchdown point. (B)below the large aircraft’s final approach path
and landing before the large aircraft’ s touchdown point. (C)above the large
aircraft’ s final approach path and landing before the large aircraft’ s touchdown
point.

4o B8%.:0015722 A0 2% B %
( B )122 "When departing behind a heavy aircraft, the pilot should avoid wake turbulence
by maneuvering the aircraft"
(A)below and downwind from the heavy aircraft. (B)above and upwind from the heavy
aircraft. (C)below and upwind from the heavy aircraft.

R4 48%.:0015723 R840 ¥k B %
( ¢ ) 123 Which combination of atmospheric condotions will reduce aircraft takeoff and
climb performance?
(A)"Low temperature, low relative humidity, and low density altitude." (B)"High
temperature, low relative humidity, and low density altitude." (C)"High
temperature, High relative humidity, and High density altitude."

R4e48%.:0015724 %5 e .0 ¥k B %
( B )124 What effect does high density altitude have on aircraft pereformance?

(A)It increases engine performance. (B)It reduces climb performance. (C)It
increase takeoff performance.

B4eA250:0015725 A0 sk &0 5
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( B )125 "What effect, if any, does high humidity have on aircraft performance?"
(A)It increases performance. (B)It decreases performance. (C)It has no effect
on performance.

4o 82%50:0015726 A0 ¥k B %
( B )126 "What effect does high density altitude, as compared to low density altitude,
have on propeller efficiency and why?"
(A)Efficiency is increased due to less friction on the propeller blades.
(B)Efficiency is reduced because the propeller exerts less force at high density
altitudes than at low density altitudes. (C)Efficiency is reduced due to the
increased force of the propeller in the thinner air.

385500010727 BE w0 ¥ 5 B 4
( A )127 When are the four forces that act on an airplane in equilibrium?

(A)During unaccelerated flight. (B)When the aircraft is accelerating. (C)When
the aircraft is at rest on the ground.

F4ek855:0015728 420 ¥k B %
( B )128 An airplane said to be inherently stable will
(AMbe difficult to stall. (B)require less effort to control. (C)not spin.

4o 82%0:0015729 A0 ¥k B %
( A )129 What determines the longitudinal stability of an airplane?
(A)The location of the CG with respect to the center of lift. (B)"The
effectiveness of the horizontal stabilizer, rudder, and rudder trim tab." (C)The
relationship of thrust and 1ift to weight and drag.

o 4o82%50:0015730 A0 2% B %
( ¢ )130 Changes in the center of pressure of a wing affect the aircraft’s

(A)1lift/drag ratio. (B)lifting capacity. (C)aerodynamic balance and
controllability.
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